T™C
N~ R F MR AR B H

720 Bk B & L

A
v

di ]

1 F R A -
W42 d=25mm, #pE D=60mm
iTHeRMl: Z20-25>60

720 BRI BB RS ASE (IB/T7934-1999)

HARSE (mm) e (129 %) € B o
HiE
M

d aw | D D, L, L | L d, n N.:n (Fff'iﬁm (Mj)ﬂiEN'm kg
25 | 18 | 60 | 375 | 275 | 20 | 17 | mMex8 | 9 17 21 0.190 0.37
25 | 20 | 60 | 375 | 275 | 20 | 17 | mMex8 | 9 17 25 0.255 0.37
30 | 20 | 65 | 425 | 275 | 20 | 17 | Mexs8 | 9 17 20 0.205 0.42
30 | 22 | 65 | 425 | 215 | 20 | 17 | mexs8 | 9 17 2 0.270 0.42
30 | 24 | 65 | 425 | 215 | 20 | 17 | Mexs8 | 9 17 28 0.340 0.42
35 | 25 | 72 | 475 | 215 | 20 | 17 | Mmexs8 | 12 17 29 0.365 0.48
35 | 28 | 72 | 415 | 275 | 20 | 17 | mex8 | 12 17 35 0.490 0.48
35 | 30 | 72 | 475 | 215 | 20 | 17 | mexs | 12 17 39 0.585 0.48
20 | 30 | 78 | 525 | 275 | 20 | 17 | mexs | 15 17 37 0.555 0.54
20 | 32 | 78 | 525 | 275 | 20 | 17 | mexs | 15 17 37 0.590 0.54
40 34 78 52.5 27.5 20 17 M6x<18 15 17 42 0.710 0.54
20 | 35 | 78 | 525 | 275 | 20 | 17 | mexs | 15 17 44 0.770 0.54
45 | 35 | 92 | 60 | 335 | 24 | 20 | Mex2 | 12 " 55 0.960 0.92
45 | 3 | 92 | 60 | 335 | 24 | 20 | mex2 | 12 0 57 1.030 0.92
45 | 38 | 92 | 60 | 335 | 24 | 20 | mMex2 | 12 " 63 1.200 0.92
50 | 38 | 98 | 65 | 335 | 24 | 20 | M8x2 | 12 0 53 1010 10
50 | 40 | 98 | 65 | 335 | 24 | 20 | Mex2 | 12 " 58 1.160 10
50 | 42 | 9 | 65 | 335 | 24 | 20 | Mex2 | 12 4 63 1.320 10

42




b 75 m 1% zh Bl Ak B B

220 BRI ZERM RS ASE (IB/T7934-1999)

FARSF (mm) R (12.9 %) 75 B i

Ha

d dw D D, L, L Ls d; n ':A; (FTT ijNJm (Mj)ﬂiENlm kg

55 42 | 105 | 70 | 335 | 24 20 | M8x2 | 14 41 63 1.330 11
55 45 | 105 | 70 | 335 | 24 20 | M82 | 14 41 70 1.590 11
55 48 | 105 | 70 | 335 | 24 20 | M8x2 | 14 41 78 1.880 11
60 48 | 110 | 75 | 335 | 28 20 | M8x2 | 14 41 67 1.600 1.2
60 50 | 110 | 75 | 335 | 28 20 | mMex2 | 14 41 71 1.780 12
60 52 | 110 | 75 | 335 | 28 20 | mMex2 | 14 41 73 1.890 1.2
70 55 | 138 | 90 | 395 | 28 24 | M10>25 | 14 83 106 2.930 2.3
70 58 | 138 | 90 | 395 | 28 24 | M10>25 | 14 83 116 3.370 729
70 60 | 138 | 90 | 395 | 28 24 | M10>25 | 14 83 123 3.690 2.3
80 62 | 145 | 100 | 395 | 28 24 | M10>e5 | 14 83 101 3.140 2.4
80 65 | 145 | 100 | 395 | 28 24 | M10>e5 | 14 110 3.570 2.4
80 68 | 145 | 100 | 395 | 28 24 | M10>e5 | 14 83 118 4.020 2.4
80 70 | 145 | 100 | 395 | 28 24 | M10>e5 | 14 83 124 4.350 2.4
90 70 | 160 | 110 | 395 | 28 24 | M10>e5 | 16 83 117 4.090 2.8
90 75 | 160 | 110 | 395 | 28 24 | M10>e5 | 16 83 130 4.890 2.8
90 78 | 160 | 110 | 395 | 28 24 | M10>25 | 16 83 139 5.420 2.8
100 | 78 | 180 | 1225 | 47 33 26 | M12>30 | 14 145 153 5.980 3.8
100 | 80 | 180 | 1225 | 47 33 26 | M12>30 | 14 145 159 6.370 38
100 | 8 | 180 | 1225 | 47 33 26 | M12>30 | 14 145 158 6490 38
100 | 85 | 180 | 1225 | 47 33 26 | M12x30 | 14 145 168 7.160 38
110 | 8 | 100 | 1325 | 47 33 26 | M12x30 | 14 145 145 6.180 4.1
10 | 88 | 190 | 1325 | 47 33 26 | M12>30 | 14 145 154 6.800 4.1
110 | 90 | 100 | 1325 | 47 33 26 | M12>30 | 14 145 160 7.240 4.1
10 | 95 | 100 | 1325 | 47 33 26 | M12>30 | 14 145 176 8.380 4.1
120 | 95 | 206 | 1425 | 47 33 26 | M12>30 | 16 145 173 8.250 4.7
120 | 100 | 205 | 1425 | 47 33 26 | M12>30 | 16 145 189 9.450 4.7
120 | 105 | 205 | 1425 | 47 33 26 | M12>30 | 16 145 204 10.740 4.7
140 | 110 | 230 | 165 | 52 38 34 | M12x35 | 22 145 233 12.860 7.4
140 | 115 | 230 | 165 | 52 38 34 | M12x35 | 22 145 251 14.440 7.4
140 | 120 | 230 | 165 | =2 38 34 | M12x35 | 22 145 269 16.140 7.4
160 | 125 | 260 | 185 | 52 38 34 | M12x35 | 26 145 274 17.130 9.2
160 | 130 | 260 | 185 | 52 38 34 | M12>35 | 26 145 292 18.990 9.2
160 | 135 | 260 | 185 | 52 38 34 | M12>35 | 26 145 310 20.940 9.2
160 | 140 | 260 | 185 | &2 38 34 | M12>35 | 26 145 328 23.000 9.2

43




